ASSIGNMENT - 14
CHAPTER-5 DIVISION

STD IV MATHEMATICS
Do the following in your Maths copy .

1.Word Problems : (Do one sum in one page)

a) The cost of 4 chocolates is £ 52. What is the cost
of one chocolate ?
Solu: Cost of 4 chocolates = X52
Cost of 1 chocolate = X52+4
= X13
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b) A bus covers 192 km in 6 hours . Find the distance

N

covered by itin 1 hour?

c) The cost of one penis X 13. How many pens can

be bought for X 4875 ?



d) The cost of 8 kg of sugar is X 280. Find the cost of
1 kg of sugar. Also, find the cost of 15 kg of sugar.
2. Fillin the blanks :

a)25+1=__
b)13+13=__
c)12+ =12
d _ +36=1

e)0 +8=__

fy __ +45=0



